BMAT Maths Compilation

Transformations

12 The square ABCD is positioned so that its vertices are at the points with coordinates:
(1,1), (-1, 1), (-1,-1)and (1, -1).
The square is rotated clockwise through 90° about the origin and then reflected in the line y = x.

Which transformation will return the square to its original orientation?

A Areflection in the x-axis.

B Areflection in the y-axis.

C Areflectionin the line y = —x.

D A rotation of 90° clockwise about the origin.
E

A rotation of 90° anticlockwise about the origin.
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